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EDUCATION
PAPER - 11

Raw
Yy-11

Note : This paper contains FIFTY (50) multiple-choice/Assertion/Reasoning questions/
Matching questions. Each question carries TWO (2) marks. Attempt All the

questions.
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1. “Children would never receive
punishment as such, it could always
come as the natural consequence of
their faults.” This was advocated
by :

(A) John Dewey
(B} Rousseau

(C) Sir John Adam
(D) A.S. Neil

2. Access to schooling became our
national objective because of the
constitutional commitment to the
value of :

(A) dJustice
(B) Liberty
(C) Fraternity

(D) Equality
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“Problems are solved through

argument, discussion and
persuation.” This statement accepts
the philosophy of :

(A) Democracy

(B) Mobocracy

(C) Oligarchy

(D) Monarchy

Progressivism in education is an
ideology highly influenced by the
thinking of :

(A) Ralph Borsodi

(B) John Dewey

(C) Plato

(D) Ross

Which of the following educational
thinkers had similar educational
philosophy as that of Vedas and
Upnishads ?

(A) Vivekananda

(B) Gandhi

(C) Rabindra Nath Tagore

(D) Guru Nanak
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Philosophical attitude means : -
(A) High logic, low impulse

(B) High impulse, low logic

(C) Equal logic and impulse

(D) Only impulse

Which of the following schools of
philosophy advocates ‘Child centred
education’ ?

(A) Idealism

(B) Pragmatism

(C) Naturalism

(D) Institutionalism

Who emph.asised the idea of
‘Education through productive
labour’ ?

(A) Rabindra Nath Tagore

(B) Swami Vivekananda -

(C) Mahatma Gandhi

(D) Ishwarbhai Patel
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10.

11.

The names of Kapila and Patanjali
are associated with :

(A) Nyaya-Vaisesika

(B) Sankhya-Yoga

(C) Visista-Advaita

(D) Purva-Mimansa

A school facilitates students for an
activity of environment protection,
it shows :

(A) an idealist approach

(B) a pragmatic approach

(C) a phenomenological approach
(D) an existentialist approach
Which philosophy advocates the role
of a teacher as strict disciplinarian ?
(A) Idealism

(B) Naturalism

(C) Realism

(D) Existentialism
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12.

13.

14.

Among the four purusharthas
recognized by ancient Indians, the
highest value was given to :

(A) Dharma

(B) Moksha

(C) Karma

(I)) Artha

In the process of socialization,
development of self is related to :
(A) adequate ego — inadequate ego
(B) ego centrism

(C) super ego

(D) ego

The process of imbibihg norms,
values and behavioural patterns of
school is called as :

(A) Anticipatory socialization

(B) Primary socialization

(C) Secondary socialization

(D) Acculturation
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15. Which ‘Varna’ was looking for
education ?
(A) Brahmin
(B) Kshatriya
(C) Vaishya
(D) Shudra
16. The most significant agent to offer
change in society is :
(A) Television
(B) Religion
(C) Language
(D) Education
17. Socialization means :
(A) getting elected/inducted into a
socially préstigious rank/post
(B) becoming a socialist
(C) becoming popular

(D) learning the ways of a group
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18.

19.

20.

(B)

Social stratification refers to :

(A) social division of people

hierarchical arrangement of

groups of people

(C) social and political power
division of people

(D) social, economic and political
power division of people

Which is the most effective factor

of social change in a democratic

country ?

(A) Education

(B) Family

(C) Community

(D) Religion

Application of principles of sociology

to the study of educational

institutions as separate units is

known as :

(A) Social Science education

(B) Sociology of education

(C) Educational sociology

(D) Social foundations of education
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21. When individuals belonging to
various cultures learn from cultures
of one another, this is a process of :
(A) enculturation
(B) assimilation

(C) acculturation

(D) cultural integration
22. The structures like VEC and PTA
have been created to forge and
strengthen linkage between :
(A) community and environment
(B} teachers and parents
(C) environment and parents
(D) community and the school

23. Gender is a form of . difference

between man and woman.
(A) Socio-psychological
(B) Socio-cultural

(C) Socio-biological

(D) Socioc-emotional
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24.

25.

26.

Use of folk tales, songs, music, dance,
local arts and crafts as teaching aids
while teaching is an example of :
(A) Culturally sensitive pedagogy
(B) Culture based pedagogy

(C) Scientific pedégogy

(D) Critical pedagogy

Caste is a system of :

(A) social stratification

tB) religious stratification

(C) social relations

(D) socio-economic stratification
An individual’s potential ability to
acquire ar specific type of knowledge
or skill is called :

(A) Intelligence

(B) Capacity

(C) Attitude

(D) Aptitude
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217.

28.

29.

One of the important functions of 27

remand home is :

(A) adjustment training

(B) proactive behaviour

(C) preparing for rehabilitation
(D) nutritional care

Openness to experience, internal
locus of evaluation and ability to
play with elements and concepts are
closely associated with :

(A) intelligence

(B) creativity

(C) extraversion

(D) introversion

Which of the following is the  29.

meaning of learning according to

Mental Disciplinarian’s Learning ?

(A) A result of experience

(B) A change or reorganisational
insight

(C) A matter of strengthening the
faculties of mind

(D) A result of indentical element
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30. Who developed Vocational Interest
Bank ?
(A) Moore
(B) Kuder
(C) Richardson
(D) E.K. Strong

31. Moderate level mentally retarded
students are able to carry ou'-c o
(A) Welding and fabrication work
(B) Computational work
(C) Writing work
(D) Communicative work

32. Free Association was originated as
a technique of :
(A) Psychoanalysis
(B) Psychodrama
(C) Ink blot test

(D) Bio-feedback
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33.

34,

35.

“A reinforcer is the stimulus the
presentation or removal of which
increases the probability of a
response being repeated.” This is
true in case of :

(A) Classical conditioning

(B) Trial and error learning

(C) Operant conditioning

(D) Insightful learning

The theory of hierarchy of needs was
propounded by :

(A) Bruner

(B) Maslow

(C) Erikson

(D) Ausubel

Which one of the following is not
the principle of classical
conditioning ?

(A)

Stimulus assimilation

(B)

Stimulus generalization

(C)

Extinction

(D)

Stimulus discrimination
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36. Who gave the two factor theory of  36. Had--l (3-4es [Ugid 19 224

motivation ?

(A) Maslow

(B) Herzberg

(C) Mclaland

(D) Eric Berne

37. The essential difference between

Education and Psychology is

that :

(A) Education is normative and
Psychology is descriptive

(B) Psychology is normative and
Education is describtive

(C) Psychology is concerned with
the whole man, whereas,
Education is concerned with
learning only

(D) Education is concerned with
children and youth only,
whereas, Psychology is
concerned with the entire life

span

Education-I1
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38.

39.

40.

In experimental research, the 38.

variable which, if not controlled is
likely to confound the effect of the
independent variable is termed as:
(A) uncontrolled variable

(B) controlled variable

(C) intervening variable

(D) extraneous variable

39.

The emphasis of internal criticism
in historical research is on the :
(A) source of the material

(B) authenticity of the material
(C) location of the material

(D) content of the material

In homogeneity of data, the value  40.

of standard deviation is :
(A) eugqal to zero

(B) greater than zero
(C) less than zero

(D) close to zero
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41.

42.

43.

At what stage of research, the study
of related literature is least
relevant ?

(A)
(B)
(8))
(D)

A sample is selected using the

identification of the problem
stating the problem
data collection

data analysis

names on a list. The initial number
is selected randomly from the first
15 names on the list and every 15th
name is selected from that point on.
The
(A)
(B)
(€C)
(D)

Whenever a tool is developed for

sampling technique is :
stratified sampling
cluster sampling
systematic sampling
two stage sampling
measuring affective domain
variable, during item analysis :
(A) only discrimination index is to
be calculated
(B) only difficulty index 18 to be
calculated
(C) both the indices are to be

calculated

(D) neither difficulty  nor

discrimination indices are to be

calculated
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44.

45.

46.
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An aptitude test should essentially
possess :

(A) content validity

(B) concurrent validity

(C) construct validity

(D) predictive validity

In order to analyse data through
Chi-square, the measurement of the
dependent variable should be on :
(A) ratio scale

(B) interval scale

(C) ordinal scale

(D) nominal scale

A researcher measures achievement
of 50 students and found its mean
equal to 15. Now each achievement
score is increased by 10. What will
be the new mean ?

(A) 150

(B) 5

(Cy 25

Dy 500
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47.

49.

50.

In hypothesis testing, a-error is
committed by :

(A) increasing level of significance
(B) keeping level of significance
constant ]

(C) decreasing level of significance
(D) manipulating level of

significance

Below are given frequencies in
three equal sub-groups of a
distribution each from left to right.
Which one is the
distribution if N in each case is
1000 ?

(A) 450, 350, 200

(B) 100, 800, 100

(C) 160, 680, 160

(D) 300, 300, 400

The term ‘one way analysis of

normal

variance’ means that the analysis
has only one :
(A) independent variable

(B) dependent variable

(C) moderate variable

(D) latent variable

Application of a theory, a law, a
principle to a specific situation in
the field of education is termed as :
(A) pure research

(B) action research

(C) applied research

(D) theoretical research
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